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Warm Up- REGULAR Nonagon
1. What does it mean to be a regular polygon?
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2. Proof oL
Given: all sides of the inscribed nonagon are congruent P L F
Prove: the nonagon is a regular polygon. —— ~
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3. How many little triangles is the polygon broken into2 14 15 ™%/ " iV~
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4. Whg’r is the degree measure of each central angle?
A2 /e A0 _ N
% = S — = L} )

(}

5. Measure in centfimeters the length of the radii.
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6. Find the area of ONE of the triangles. (Show all work)
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7. Find the area of the regular nona;;on. (Show all work)
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An Inscribed Regular Pentagon

1. Use a protractor to inscribe a 2
regular pentagon in circle P by
constructing the central angles first.

2. Measure the length of the radii.
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3. Find the area of the
inscribed regular pentagon.
(Show all work)
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Finding the area of regular polygons Notes

A. If you are given the radius (r) of a

regular polygon you find the area by:
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B. If given the apothem(a) and the side length(s)
you find the area by
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Examples:
Find the area of the octagon, given the following information.
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1. QG=6in" . 2.CQ=21. 3cm?
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